ICS hw2 answer

T1

(@).1 x 2—126 — 2—126

(b). (1 _ 2—23) % 2—126 — 2—126 _ 2—149

T2

231 _ 1 = 2,147, 483, 647

T3

XOR(AB) = AB + AB

= AB + AB
= (A+ B)(A+ B)
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e OORX=X
e TORX =1
e OANDX =0
e« TANDX =X
e OXORX=X

T6

B 1 UREASBEEE, ATHN, BHREZRE.

ik 2 RETFISIEEK, Ml BRERNRSEELR:

Bigmsk (A, B) = (0,1) , it D=1, B4k ATH 1 BHEAHRA D = 1
Bigmsk (A, B) = (1,0) , itk D =0, 4k B TH 1 BRLRARN D = 0
B0, W D HRE—6 (4, B) = (1,1) BE.

T7

(a). 25 = 32

(b). ¥tk 1 i, EFEES 4 i

T8

. 3 GEEEEIED)
. Z = (AB)(CD)E
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T9

a fter cyclel : 100000
after cycle2 : 111000
after cycled : 111110
after cycled : 011111
after cycleb : 000111
a fter cycle6 : 000001
after cycle7 : 100000

B&If/EHA 6, ALk 50 AHAFE 111000
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T10

A=A NAND A

AB— AB— A NAND B
A+B—AB
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T11

3 bits
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d BRPERSENYE, FikRTRSHE, BEEREREL (REER)
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MERG, BAXLERTSFINPAERIERMRI 5 BR¥N 0,1,2,3,4 , REF—MREER
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28 x 8 = 21! bytes
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